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1. Study the two organisms, A and B below.

Crganizm A Organism B

Which sot of information comectly describes organisms A and B?
Organism A Organism 8
Covered with Have fins Covaredwith |  Have fins
scales scalas ‘
(1) No Yes Yes No
{(2) No No No Yes
{3} ¥es No No Yes
{4) No No Yes Yes
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Study the fow charl and plant X shown below.

Start

]

Does it grow in water?

Yes
——-"“."'

Yes
s

A

| Yes o

cant X

Which of the following letters corectly represents plant X?

i No
Does it reproduce by spores?
+ No
Does it have a strong stemn?
' No
¥
D
() A
(2) B
(3 C
4 D
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Thg table below shows the characteristics of two organisms, A and B. A tick{v')
indicates that the characteristic is sbserved and a cross {*}indicates that itis not

observed.
Characteristics Organism A Organism B
able to make food % v
has spores v v
has flowers x x

Based on the table above, which of the following organisms correctly represent

A and B? 4
Organism A Organism B
1)
{2)
%
mushroom bird's nest fern
(3
@ sunﬂoer
bird’s nest fern bread mould
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Which of the following comparison(s) isfare false?

Plant Transport System Human Circulatory System
A | Has tubes that transport Does not have tubes to transport
| | substances _i subslances
B | Transports food produced by the | Transports digested food only
leaves only i}
C | There is no organ to pump the The heart pumps blood through
substances through the systemn  { the system
(1) Aonly
(2) AendBonly
(3) BandC only
(4) Aand C only

Tﬁe diagram below shows how food and various gases are transported in the

human body.
surrounding air food
s t
¥ '
System P System R
T v,
i NN ]
v SN / 4
exhaled. air . . System Q waste
Which of the following best identifies P, Q and R?
System P System Q System R
(1 respiratory circulatory digestive
(2) respiratory digestive circulatory
(3) circulatory digestive respiratory
(4) digestive respiratory cGirculatory
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6.

A group - of children were trapped in a lift. After one hour, they felt very

uncomfortable as the types of gases in the air in the lift changed.

Which of the following shows correctly the change in the amount of the types of

gases in the air after being trapped in the Iift for one hour?

(1)

{2)

{3)

(4

Types of gases in the air

Change in the amount of gases

after one hour
oxygen decreased
carbon dioxide decraased
water vapour stayed the same

Types of gases in the air

Change in the amount of gases

after one hour
oxygen increased
carbon dioxide increased
water vapour increased

Types of gases in the air

Change in tha amount of gases
‘ after one hour

oxygen increased
carbon dioxide decreased
water vapour decreased

Types of gases in the air

Change in the amount of gases

after one hour
oxygen decreased
carbon dioxide increased
water vapour increased
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7.  The diagrams below show three cells, X, ¥ and Z.

C

CellZ

Cell X

Which of the following statements is true about cells X, Y and 27

(1) They are animal cells.

{2) They can make food.

(3) They have cytoplasm and a cell wall.

(4) They have a nucleus and a cell membrane.
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8. The diagram below shows the human digestive system.

Three students each made a statement about the parts of the digestive system,

Which of the part{s) P, Q; R and'S, match correct}

Water is absorbed from the undigested food here.

the three studenis?

(1)
(2)

3

Ranesh: Digestion is completed here.
Lin Min: Digestive juices are added here.

Y to the statements made by

Lin Min

Ranesh Vivian
Q P.Q R
Q P.R,Q S
S P.R Q S
S R,Q P
7
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9.

10.

11

BP-~80

Study the flower shown.

Pari(s) of the flower is/are removed. After some time, the flower developed into
a fruit. Which part(s) was/were removed?

(1) A only
(2) B only
(3) A and B only
(4) C and D only

For an adult plant to produce seeds, which process(es) must take place?

(1) germination

(2) fertilisation

(3) pollination and fertilisation
{4) germination and pollination

A student made three statements about sexual reproduction in plants and
humans. )
A  Fertilisation occurs in a female reproductive part.

8 Reproductive cells are produced in the testes.
C Thefesrtlised egg is found in the ovary.

Which of the following shows the statements correctly maitched to plants and
humans?

Plants Humans
M AC B
(2) B C A C
(3) AC AB
(4) A B,C
8
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12.  Sludy the dispersal of seeds by plants P, Q and R.

Key: seed parent plant wind direction
OO =
 sem— ey Y

Which of the following correctly represents the seed dispersal
P, Q and R respectively? P method for plants

Pla.nt p Plant Q PlantR
{1 animal splitting wind
gg splitting animal wind
'~ __animal wind lithh
J splittn
{4 wind animal spﬁttﬁgg_w'm7
9

More papers available at www.testpapersfree.com

BP-81



BP~82

Jia En set up three arrangements of identical batteries, wises and bulbs as shown in the
diagram below.

Set-up A Set-up B Set-up C

& {i%};——

Which of the following statements is correct?

(1) None of the bulbs will light up.

{(2) Only the buib in set-up A will fight up.

{3) The bulb in set-up A will be brighter than the bulb in set-up B.
(4) The buibs in all three set-ups have the same brightness.

Billy set up two circuits, A and B, as shown in the diagram. He wants to find out if the
number of batteries in a circuit affects the brightness of the bulbs. However, his brother
says that his experiment is not a fair one.

il

——————
ovpeaer

&

circuit A circuit B
Which of the following must Billy do to achieve his aim?
(1) Remove one batlery from circuit A.
{2) Remove one bulb from circuit A.

(3) Add two buibs in parallel arrangement to circuit B.
{4) Add two buibs in series arrangement to circuit B.

10
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18.

16.

Siti connacled three objects, X, Y and Z, to an elecirical circuit as shown below.
All the bulbs were in working condition. ‘

N A

M2

M3

.
..

Which of the following is a possible cbservation?

Electrical conductors

Buib{s) that lit up

(1) | Xand Z only

M1, M2 and M3 only

(2) | X.Yand Z

M1, M2 and M3 only

(3) 1 Yand Zonly

M2 and M4 only

{4) 1 X, Yand Z

M3 and M4 only

Zhi Ming wanted to find out how the brightness of the bulb is affected by the length of
wire A used in the circuit. He used the electric circuit shown in the diagram below to carry

out his experiment.

Which of the following variables should be kept constant to ensure a fair test?

A: Length of wire A

B: Number of batteries used

C: Brightness of the bulb

{1) Aonly
(2) Bonly
(3} B and C only

. {4} A and C only
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17.  The diagram below shows the changes in the states of water.

melting

evaporation

substance A |

water

»

process C

process D

water vapour

Which of the following correclly represents substance A and processes C and D?

&)
(2)
(3)
(4)

substance A process C process D
ice evaporation melting
ice freezing condensation

steam boiling condensation
steam freezing melting

18.  Two syringes containing different substances are shown below.

plunger

f-————-u-—-,

stopper

syringe A

P———————

syringe B

Which of the following best explains why oniy the plunger for syringe B could be pushed
down but not the plunger for syringe A?

{1) Substance S has no definite volume.
(2) Substance S cannot be compressed.
(3) Substance R has no definite volume,

(4) Substance T can be compressed.

12
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19.

The diagram below shows the water cycle. X and Y represent two different processes.

o ~\X*
in / water vapour
\ /

clouds

Which of the following statements is correct?

{1) Water loses heat during process X.

(2) Water gains heat during process Y.

(3) Process X takes place at a fixed temperature, _

(4) There is no change in state of matter when rain falls from the clouds.

The table below shows the freezing points and boiling points of 4 different substances
W, X, YandZ

Substance Freezing Point (°C) Beiling Point {°C)
W 43 200
X 15 55
Y 80 100
Z 5 25

Which two of the substances are in the solid state at 30°C?
(1YWand X-
{(2YWandY

(3) Xand Y
(4) X and Z

13
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22.

The diagram below shows a steel bridge with one end of the bridge fixed while a gap is
left at the other end supported by roliers.

fixed end of the

' \//\\/ o

rollers

Why is there a gap at one end of the steel bridge?

(1) To allow the stesl bridge to decrease in volume due to expansion on a cold day.
{2) To allow the bridge to increase in mass due to expansion on a hot day.

(3) To aliow the bridge to increase in volume due 1o expansion on a hot day.

{4) To allow the bridge to decrease in mass due to contraction on a cold day.

A block of ice is placed in a closed box as shown in the diagram below.

air

box

ice

What will happen to the temperature of the ice and the air in the box during the process
of melling?

(1
(2)
(3)
(4)

Temperature of ice

Temperature of air in the box

remains the same decreases
increases decreases
increases remains the same
decreases remains the same

14
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The diagram below shows a container that can be used
picnic. The ice cubes melt slowly when they are

Study the properties of the four materials shown befow,

to keep ice cubes during a
kept in the container. |

Material Prop of material
Can bend easily Can conduct heat easily
A yes yes
B _yes no
C no no
D no ves

Which material is the mdst suitable for making part X of tha container?

(1) A
(2) B
(3) C
(4) D

15

More papers available at www.testpapersfree.com

BP-~87



24. Hassan set up an experiment as shown below.

thermometer thermometer
X —_—Y
sirintheglass 1
container
H retort stand
bunsen burner

He recorded the temperature on the two thermometers at regular intervals in the

table shown below.
Time Temperature on thermometers (°C)
{min) X - Y
0 28 28
2 30 29
4 33 ... , S Y
6 38 34

Which of the following can he conclude based on the results of the experiment?

A: Airis a conductor of heat.
B: Air gains heat and expands.
C: Heat travels from a hotter region io a colder region.

(1) Aonly
{2) B and C only

{3) AandC only
(4) A and B only

16
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25.

28.

Jerdan threw the ball upwards as shown in the diagram below.
A

]
K
-
’
.
-
.
3
-
.
h)
]
+
[}
¥

lon)

Which of the following is correct?

(1) The gravitational force acting on the ball at point A is more than that at point B.
(2) The gravitational force acting on the ball at points A and B are the same.

(3) The ball has more gravitational force acting on it at a height higher than point A.
(4) The ball has no gravitational force acting on it at point B,

Russell brought four magnets near each other and observ

ed that they are atiracted fo
each other as shown in the diagram.

X | N Z

Y

Which of the following cormrectly identifies poles X, Y and 27

X Y Z
(1) South North North
(2)- South North South
(3) North South North
4) North North South
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27.

Hannah hung different loads on two springs, X and Y. She observed and recorded the
extension of each spring when different loads were hung on it.

)

b
N

increase in length of the spring
(om)

* Mass of the load.(g)

100

Based on the graph, which of the following is correct?
(1) Spring Y is less stiff than spring X.
(2) Spring X and Y have the same stiffness.

(3) When a load of 100g was added, the length of spring Xis 12 cm.
{(4) When a load of less than 100g was added, spring Y extends less than spring X.

18
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28. Meh‘s.sa set up the experimert as shown below. All magnets used are identical in shape
and size. v\_!hen magnet P was placed directly below magnet X, the wooden rod tilted as
shown in diagram 2. She recorded the distance as indicated in diagram 2.

Thagnet
magnet X
magnet
C C

diagram 2

The experiment was repgated by replacing magnet P with magnets Q, R and S.
The magnets are placed with the like poles facing each other. When different magnets
were used, the distance measured when the wooden rod tilted were shown in the graph

balow.
distance
4
—» Mmagnet
P Q R S

Based only on the results above, which of the followi i
of the macrates ng corvectly shows the arrangement

Creatsst magnetic strength — — _Least magneti g '
) L L 5 etic ‘s’;ren th
(2) Q S P R
{3) R P S Q
(4) R S p Q

END OF BOOKLET A
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Red Swastika School
Primary § Sclance 2022
Revision Paper2

Nama: { }Dsda:
Class : P5

Answer all the questions in the spacss provided.

29. Saminsh conducted an experiment as shown in the diagram below. After one week, she
noticed some dark-coloured organisnis growing on the cooked bun inset-up Y only.

set-up X set-up Y
cooked

dark-coloure

box " bun ~9 I organisms
\ - &
L bowl
cooked bun placed inthe cooked bun placed onthe
freezer kitchen table
(a) Expiain why there was no dark-celoured organisms growing on the cocked bun in set-up

L {im)

(b) How do the dark-coloured organisms on the cooked bun reproduce? {im)

19
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29. Saminah repeated the experiment by putting substance T in the set-up. After one week,
she observed that thers was less dark-coloured organisms growing on the cooked bun
compared to set-up Y as shown in the diagram below.

box \
PN dark-coloured
cooked bun~— LS organism
bowl — H’ | substance T
cooked bun placed on the
kitchen table

(c) Based on the observation, what could substance T have removed from the air in the
bax? (1m)

More papers available at www.testpapersfree.com



BP-~95

30. Kai Xin removed some food-carrying tubes of the stem from a plant as shown below.

l/@ / Part D

magnified view

T Part £

After some time, she measured the thickness of the stems and recorded it in the table
below.

{a) Based on the dala in the table, write ‘D" or "E” in the blanks to show the correct part she
had abserved. (1m)

Part Day 1 Day 4 Day7

(i) 16 cm 18 om 20 cm

(i} 16 cm 16 em 16 cm
' |

(b} Explain your answer in (a){i}. (2m)

Kai Xin wrote down four parts of a plant as shown below.

»| stem leaves

roots

flowers

{(c) Draw 2 more amows { ———» )} 1o show how waler is transported in a plant, (1 m)

21 4
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31. Henry wanted to investigate the process of digestion in the human body. The diagram
shows two tubes, X and Y, with the same type of food, at the start of experiment.

— tubeY

tube X—__] ! |

. water at 37°C throughout
the experiment

NN

digestive juice ]

conlainer

"l‘.l

......
.......

\ —}— heat source
A\

foad {cut into smaller pieces)

i g ity
N

(a) Give a reason why Henry chose a temperature of 37° C for the water in the
container. {1m)

He recorded the data as shown in the tabie below.

Tube Amountof -| Mass of | Total surface Time taken for the
digestive juice | the food area of the food to be digested
used (cm®) {g} food (cm?) completely (min)
80 20 10 . - 170
! 80 20 30 140
i

{b) Based on the table, how does surface area of the food affect the time taken to digest
the food completely? (1m)

(c) Henry wants to reduce the time taken to digest the same amount of food completely.
Suggest how he can change one variable in the table to achieve his aim. (1m)
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52. Julia wanted o find out more about the human circulatory system. The table below

shows records of her heart rates while she was performing different activities in a day.

BP-97

Activitias Resting Walking Running Sleeping
beats/min
60 70 100 80
62 75 105 85
65 72 102 0

(a) Julia realised that she had recorded one of her hearl rates wrongly.
Circle the wrong reading on the table above. (1m)

(b) Explain your answer in (a). {(1m)

{c) Julia observed that her breathing rate increases when she wa
her breathing rate increases. {(1m)

$ running. Explain why

More papers available at www.testpapersfree.com
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33. Mrs Tan filled two similar pots, A and B, with an equal amount of soil. She put the same
typs of seeds into the pots and placed them next to a window where there is plenty of
sunlight and air. Mrs Tan watered the pots with an equal amount of water every day.

30 seedsinPot A S seedsinPotB

(a) Which pot, A or B, will contain taller plants after two weeks? (1m)

(b} Explain your answer in (a). (1m)

24
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33. After one month, the seeds grew into young plants. Mrs Tan studied the growth of
one plant closely at different stages, X, Y and Z as shown below.

BP~99

A
green
leaves
Part A
Part A
X?
Stage X Stage Y Stage Z
(c) How does the plant in stage Y obtain food? (1m)
The graph below displays'the mass of part A of the plant.
A
Mass (g) Hey
R e
S8l
T:
Number of days

{d) Based on the above graph, which line, R, S, or T, best re
> W R, S, ' presents the mass
of the plant from stage X to stage Z? Explain your answer. (2m) otpart A

25
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34. Chamaine studied the life cycle of organism G as shown below.

{(a) Charmaine classified organism G as an insecl. Based on the diagram of the aduilt,
state two characteristics of the adutt that helped her to classify it as an insect. (2m)

/ egg '\
— R
N pupa

larva

She studied how the temperature of the surrounding affected the life cycle of organism

G. Her findings were recorded in the table below.

Temperature { °C) | Number of days for one complete life cycle
15 58
20 47
25 34
30 Q
35 16

{b) Based on the information in the tabie,' what could be a possible value of Q7 (1m)

(c¢) From Charmaine's findings, what is the relationship between temperature and the

duration-of one complete life cycle? (1m)

26
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3. Shantel has a toy house with four rooms. She connecied the light bulbs in the reoms
using the circuil diagram shown below.

e ~ wail
electrical & @ i/
source Switch A | '
AN A ; """""" : . i Room 1
Room 4 ! : ! :
; &> — () !
T S R —=2 SwitchB o §___ % ____1 .2
: B [ "
Room 3 ' ' .
! - ' ' ! Room 2
e j'X} o R !

{8 How many bulbs will light up if only switch A is closed? {(im)

{b)  Shantel closed switch A and switch B. If bulb S fuses, how many of ini
wil ottt an () ny of the remaining bulbs

27
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Shantel made some changes and the new circuit diagram design is shown below.

wall
electrical ;‘"“""""“"./
source 0 .
- 4 P '
: ,
M R ! : @ . Room 1
] ) 3
Room4 ! s ; 4 Q !
: »—/o—-@ ; ; {X}-/‘- '
SRS SO - S I 2
3 f 3
Room3 | _/..@}'___ : : ®R /] | Room2
§ t ]
' : ; )

This new design allowed Shantel to make one of the buibs a “safety” light which cannot
be switched off.

{c)  Whichbulb, P, Q, R, SorT,is the “safety” light? (1m)

(d)  Shantel closed three of the switches. Bulb S was one of the bulbs that lighted up. Below
are some possible observations, put a tick (¥ } in the correct boxes. {(2m)

Observations True False Not possible to tell

(iYBulb T did not light up

(if) Bulb Q lighted up

28
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36.  Three identical containers, X, Y and Z, containing the same amount of water at different

lemperatures were placed on a table, Sarah made the following observation after five
minutes.

plastic lid

(2}  Arrange the containers, X, Y and Z, based on the temperature of the water in them,
from the lowest temperature to the highest temperature. {1m)

{b) Describe how the water droplets formed on the outer surface of beaker Z. (2m)

29
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37.  After a heavy rainfall, Hassim noticed that a puddle of waier formed on the ground. As
time passed, the puddle gradually became smaller. He measured the width of the
puddle at different timings of the day and recorded them in his notebook. The width of
the puddle at 11 a.m. is shown in the diagram.

(a) " Draw a fring in the diagram above to show the size of the puddie at 10 am.. {im)

{b) If no water was absorbed into the ground, explain why the puddie of water became
smaller over time. {1m)

Study the graph below. Line A shows how the puddle of water of width 100 cm changed

_over ime.
Width of puddle

A
1007
50 1

0 - - Time
(c) Whichline, X or Y, shows how the puddle of water of width 100 cm will change on a
hotter day? {1m)

L
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38. Harold conducted an experiment in a dark room using the set-up below.
He wanted to find out how much light is reflected by material A.

light sensor with
datalogger

—— material A

distance X

box

lit torch

(8)  For the experiment to work, give an example of the material for the box. (1m)

{b)  For the experiment to work, what property must the material in part (a) have? (im)

PO -

(c}  Harold wanted to record the result as shown in the table. However, he mixed up the
vaiues for the amount of light measured by the datalogger.

Using the values of 100, 150 and 200, write down the correct .answérs in the boxes in
the table below. {1m)

Distance X (cm) 10 20 30

Amount of light measured

by datalogger (unit) @ {it) (i)

31
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38.

(a)

Victoria wants to build a shelf above her kettle to store plastic boxes. She does not
want the plastic boxes to be affected by the heat given off by the kettle,

plastic
boxes

Mt——— kettle

Mreeere oot o |

She conducted the following experiment to find out a suitable height o build the shelf.
She filled a glass container with boiling water at 100°C and kept the water boiling
throughout the experiment. She measured the lemperature of air al various distance,
X, from the water surface.

thermometer

glass container —

boiling water at
100°C

‘fhe result is recorded in the table below.

Distance X {cm) 15 20 25 30 35

Temperature of L !
air °C) 58 40 30 30 - 30

Victoria wants the plastic boxes to be least affected by the heat from the kettle.
Based on the results of the experiment, what is the lowest height from the ketile to
build the shelf? Explain why. {2m)

Lowest height: cm

Explanation:

Explain how using a glass container allowed Victoria to obtain a more accurate result.
(1m)

32
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40, Study the diagram below. When the switch in the circuit was closed, magnet Q moved
from position R to position S as indicated by distance Y.

rofler plastic pole
wooden ‘
siopper l
‘—4"-:‘
iron rod wooden rod :
4
\ FAWAWAVANAWAWAWAY s_
1 \ \ \ \ | magnetQ . "E
1 b
\VAVAVAVAY VAV ¢ 5{
position distance position
R Y S
T [1]+

(a)  Describe how closing the switch caused magnet Q to move. (2m)

(b}  Without removing or replacing any items in the set-up above, suggest two changes that - ..
can be made 1o the above set-up such that "distance Y™ can be increasad. (2m)

Change 1:

Change 2;

{c)  Magnet Qs replaced by block P. When the switch was closed, block P did not move.
Give an example of 2 material that is used to make block P. {1m)

END OF BOOKLET B
PLEASE CHECK YOUR ANSWERS,
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ANSWER KEY

LEVEL PRIMARY 5

SCHOOL RED SWASTIKA SCHOOL

SUBIECT SCIENCE

TERM REVISION PAPER'1

BAPERY

Q1 |4 Q2 3 Q2 2 Q3 2 as 1

Q6 4 Q7 4 Q8 2 Q9 i § Q10 3

Q1 |4 Q12 |2 Qi3 14 Q4 14 Qs |1

Qle |2 Q17 |2 Qlg |1 Q18 {4 Q20 |2

Q2% |3 Q22 |2 Q23 3 Q24 3 Qs |2

Q2 {1 Q27 {4 Q28 |3

PAgg %

Q29 i}{a) | The bun in Set-up X was placed in the freezer which kept
the bun cold, not allowing mould, known as dark- :
coloured organism to grow due to a missing factor,

: warmth. ‘ C : ‘

(b} | The dark-coloured organisms on the cooked buns feed

: on the bread to grow and reproduce by spores,

(c) | Water vapour

Q30 {i(a) |{(i} [

(i) | E :

{b) | Food made by the leaves could not by passed
transported the plant through the food-carrying tubes
and was collected and unable to travel so it swelled up
and became thicker at D.

{c) | Stem=> leaves

_ Flowers 1

Q31 }i{a) | 37°Cls the temperature of our body so he used 37°C for
the water in order to create what would happen if it was
in our body. :

| {b) | The more surface area exposed, the less time taken it

)
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Q37 (a) 11 a.m
gam.
Bam.
{b) | The water droplet gained heat from the sun and the
surrounding air and evaporated into water vapour
(¢ | X
Q38 || (a) | Metal
{b) | Must not allow light to pass through
{c} {10)) | 200
* (i) | 150
(i) | 100
Q39 || (a) |25cm
Explaination: 25cm, 30cm, 35cm all had same amount of
heat transferred to the plastic boxes. Thus, ail the-
temperature is constant.
{b) | Plastic would melt at 100°C
Q40 |l(a) | When the switch is closed, the iron rod becomes a

electromagnet and repels magnet Q. As the magnetic
force is strong, Q is repelled and moved backwards,

{b) || Change 1 | Add more batteries to the iron rod set-up.
Change 2 | Add more coils around the iron rod.
{c) | Plastic
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31)C) To increase the amount of digestive juice used.
32)a)Sleeping=>0
b) When you are sleeping, the heart rate cannot be zero.

¢)When she was running, more oxygen is needed, so the breathing rate increase so that
more oxygen can enter the blood and supply to other parts of the body.

33)a)Pot A

b)The seeds need sunlight to survive. As it is very crowded, the plants will grow taller
to obtain more sunlight.

c)From Part A at first and once the green leaves appear, the plant will make its own
food.

d)T as it contains the most food for the plant and will be depleted after some days.
34)a)lt has 3 body parts and 3 pairs of legs.

b)24

c)The higher the temperature, the shorter the duration of one complete life cycle,
35Ja)o

b)4

c)Bulb P

d}i)Not possible to tell. ii)Not possible to tell.
36)a)zZ, X, Y

b)When the colder surface of the container touches the hotter surface, the air in the
surrounding loses heat and condenses and water droplets are formed.

Pg1l
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